Questions about dp83td510 conneted to MAC
1、 I am not sure whether it is the driving problem or the problem of my circuit design, or maybe it is the problem of my manual welding.The syestem cannot establish connection with PC.
2、 Only the TI official website datasheet information, can you provide MAC+ DP83TD510 connection scheme reference circuit design and drive demo scheme.
My test case:
imx6ull(MAC) + dp83td510 + Router + PC
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driver：
PHY（dp83td510）+ MAC（imx6ull），RMII is used，PHY should be set as slave mode，50MHz clock signal is given from imx6ull.The dp83td510 driver I used download from ti website, branch is linux5.9 kernal：
https://git.ti.com/git/ti-analog-linux-kernel/dmurphy-analog.git
commitID: 665dda641db7e5c25fe5f7ce24006e4aeb30556e
branch: origin/dp83td510_phy
Then，I got the dirver, and transplant the dp83td510 driver in branch ‘origin/dp83td510_phy’to NXP website linux 5.9 kernel.In device-tree file， I set ti,master-slave-mode = <0>;，and tried DP83TD510_SLAVE_24、DP83TD510_SLAVE_1 two modes，but not works, cannot establish connection with computer。
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MDIO driver maybe ok, because I can read register normally.
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[bookmark: _GoBack]Such as PHY ID read normally.


hardware：
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strap9、strap6、strap4、strap1 are all set to 0，that is to say my PHY address is 0， Eth1 in my linux system(my system is double phy, the other one is normal connection).
strap7（J18，pin28）:1
strap3(pin15):1
strap8（J20，pin29）:1
strap2(pin14):0,CRS_DV
strap10(pin8):0
strap5(pin18):0


test：
[image: ] [image: ]
when I execute cmd:‘udhcpc -i eth1’，DS5 always bright，DS4 always flash quickly, seems to try to establish with PC。
case1:dp83td510 driver in kenel4.14 from TI,transplanted to my kernel5.9(NXP)
RX packets:0 errors:6 dropped:0 overruns:0 frame:6
case2：dp83td510 driver in kenel5.9 from TI,transplanted to my kernel5.9(NXP)
RX packets:0 errors:0 dropped:0 overruns:0 frame:0
[image: C:\Users\ADMINI~1\AppData\Local\Temp\WeChat Files\bb5dfaa156a765caf316cff365f950e.jpg]
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pinctrl-names = “default";

pinctrl- = <&pinctrl _enet2
&pinctrl_enet2_reset>;

phy-mode = “rmii";

phy-handle = <&ethphyl>;

phy-reset-gpios = <&gpio5 8 GPIO_ACTIVE_LOW>;

phy-reset-duration = <200>;|

status =

ook dp83td510

#address-cells = <1>;

#size-cells = <0>;

ethphyo:) ethernet-phy@e {
ompatible = “"ethernet-.

reg = <0>;
tx-fifo-depth = <5>;
rx-internal-delay-ps

y-ieee802.3-c22";

ethphyl: ethernet-phy@l {
compatible = "ethernet-phy-ieee802.3-c22";
reg = <1>;

s
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root@alpha_imx6ull_znfd]:
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CoBiRLL: Fa1 Teo—Fo-tomd-TeguTatory. db
dp83tds510_phy_reset-
dp83td510_phy_reset-
PHY_INTERFACE_MODE_RMII---dp83tdS10->Tx_{ == _depth = 0x20---
dp83tds10->forced_mode = 0 —
PHY_INTERFACE_MODE_RMII---dp83tdSl(
dp83tds510->forced_mode = 0 —
TI_DP83TD510E 2(2!140"90 ethernet-1:

tached PHY driver [TT DP83TDS10EIXmii_bus:phy_addr=20b4000. ethernet-1:00, irg=PoLL)
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! o;)é!al' ha_imx6u11_znfd] : /mnt/qej/modbustcp/modbusTcP/ethtool/phyregs:. /2phyreg
et

izeof mi

‘ead phy addr: 0x0 reg: Ox20e value : Ox443

:ro?&! pha_imx6u11_znfd] : /mnt/qej /modbustcp/modbusTcp/ethtool /phyregs:. /2phyreg
eth1 Q

izeof M1 =

ead phy addr: 0x0 reg: 0x2  value :

rootezlpha_imx6ul1_znfd] : /mnt/qej/modbustcp/modbusTce/ethtool /phyregs: . /2phyreg

eth1C0x03>

izeof mit =
rootealpha_imx6ul1_znfd] : /mnt/qej/modbustcp,/modbusTcp/ethtool /phyregs:

ead phy add
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[root@alpha_imx6ull_znfd]:
udhcpe: started, vi,29.3
Setting IP addréss 0.0.0.0 on ethl
udhcpc: sending discover

udhcpc: sending discover

udncpc: sending discover

:udhcpe -1 ethl

[Footealpha_imesu11_sntd
etho Link encap:Ethernet Hwaddr 00:04:9F:04:02:
inet addr:192. : :102.168.1.255 Mask:255.255.254.0
inete addr: fes0::204:9Fff:fe04:d253/64 scope:Link
UP BROADCAST RUNNING MULTICAST MTU:1500 Metric:l
RX packets:7084 errors:0 dropped:0 overruns:0 frame:
packets 3489 errors:0 dropped:0 overruns:0 carrier:0
collisions:0 txqueuelen:1000
RX bytes:6449544 (6.1 MiB) TX bytes:501818 (490.0 Kis)

@ Link encap:ethernet Hwaddr 00:
inet6 addr: fes0::204:9ff

3

o
collisions:0 txq g
RX bytes:0 (0.0 B) T bytes:2352 (2.2 KiB)

o Link encap:Local Loopback
inet addr:127.0.0.1 Mask:255.0.0.0
17128 scope:Host
5536 metric

RX packets:0 errors:0 dropped:0 overruns:0 fram

packets:0 errors:0 dropped:0 overruns:0 carrier:0
collisions:0 txqueuelen:1000
RX bytes:0 (0.0 B) TX bytes:0 (0.0 B)

[root@alpha_imx6ull_znfd]:/$:|
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[root@alpha_imx6ull_znfd]:/$:ifconfig
etho Link encap:Ethernet HWaddr 00:04:9F:04:D2:53
inet addr:192.168.0.100 Bcast:192.168.1.255 Mask:255.255.254.0
inet6 addr: £e80::204:9fff:fe04:d253/64 Scope:Link
UP BROADCAST RUNNING MULTICAST MTU:1500 Metric:l
RX packets:5023 errors:0 dropped:0 overruns:0 frame:0
TX packets:2391 errors:0 dropped:0 overruns:0 carrier:0
collisions:0 txqueuelen:1000
RX bytes:6194578 (5.9 MiB) TX bytes:429394 (419.3 KiB)

Link encap:Ethernet HWaddr 00:04:9F:04:D2:53

inet6 addr: £e80::204:9fff:fe04:d253/64 Scope:Link
UP BROADCAST MULTICAST MTU:1500 Metric:l
RX packets dmpped:o overruns:0 frame:6
TX packets:1d dropped:0 overruns:0 carrier:0

collisions:0 txqueuelen:1000
RX bytes:0 (0.0 B) TX bytes:2172 (2.1 KiB)

1o Link encap:Local Loopback
inet addr:127.0.0.1 Mask:255.0.0.0
inet6 addr: ::1/128 Scope:Host
UP LOOPBACK RUNNING MTU:65536 Metric:l
RX packets:0 errors:0 dropped:0 overruns:0 frame:0
TX packets:0 errors:0 dropped:0 overruns:0 carrie
collisions:0 txqueuelen:1000
RX bytes:0 (0.0 B) TX bytes:0 (0.0 B)
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